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St Aloysius College (Autonomous)

B Mangaluru
.Com.Semester I- Degree Examination

February - 2022

FINANCIAL ACCOUNTING
Time: 21/, hours Max Marks: 60
SECTION - A
Answer any FIVE of the following. (5x2=10)

N o R e

What is Del credere commission?

What is Accounting Standard?

What is the purpose of preparing manufacturing account?
What is royalty account?

What is a sole trading concern?

Write any two differences between consignment and sales.

Calculate gross profit if sales is Rs. 2, 00,000 and gross profit rate is 25% on
cost.
SECTION - B

Answer any FOURof the following. (4x5=20)

Mr. A of Bangalore sends goods costing 23,00,000 to Mr. B of Mumbai.
Commission payable was 2% on sales plus 3% on sales as del-credre
commission. The entire goods were sold by Mr. B for ¥ 4,00,000. However,
consignee is able to recover 7 3,95,000 from the debtors.

Calculate total commission payable to Mr. B, and amount to be transferred to

profit & loss account.

Following balances of a firm as on 31st March, 2018:

* |

Opening Stock: Raw Material 8%
Finished Goods 1,40,000
e | 3,60,000
s 7,00,000
W‘—’ Purchases 10,000
I T 6,000
Wages 1,30,000
W 90,000
Wmds 20,000
Outwards 30,000

At the end of the accounting period, stock was:

RowMaterals | 70,000
Workin-process | 20,000

-hed Goods | 1,10,000 |

e T E
Prepare Trading Account of the firm.
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paise per ton of output.
The output for the first 3 years Is:

1% year 10,000 tons
2™ year 20,000 tons
3" year 24,000 tons

Assume that the minimum rent is Z 8,000. Right of recouping of short working

is restricted to first two years.

Prepare Royalty table. _
A fire occurred in premises of premises of merchant
and a considerable part of stock was destroyed. The value of stock saved was
#8,200. The books disclosed that on 1st April, 2009 the stock was valued at
¥66,850, the purchases to the date of fire amounted to ¥1,85,000 and the
sales to ¥ 2,82,000. Goods costing ¥500 were taken for personal use and
goods sold for 2,500 were returned to merchant. On investigation it is found
that during the past five years the average gross profit on cost was 25%. You

on 18th September, 2009

are required to prepare a statement showing the amount the merchant should
claim from the insurance company in respect of stock destroyed by fire.

Explain the various users of financial accounting information.
Explain briefly the procedure to calculate new provision for doubtful debts with
imaginary figures.

SECTION - C
Answer any TWOof the following. (2x15=30)
Arun consigned 100 mini toy cars to Sujoy to be sold at his risk. cost of 1 mini
toy car is ¥150. But, invoice price was ¥200. Arun paid freight 2600 and
insurance in transit ¥200. Sujoy sent a bank draft to Arun for 210,000 as
advance payment and later sent an account sales showing that 80 toy were
sold at ¥220 each. Expenses incurred by Sujoy were: carriage inward 225,
octroi ¥75, godown rent ¥500 and advertisement 300 Sujoy is entitled to a
commission of 5% on sales. Prepare necessary ledger accounts in the books of
both the parties.
From the following Trial Balance and other information concerning to the
business of Mr. Sharma you are required to prepare Trading and Profit & Loss
Account for the year ended 31st December 2019 and Balance as on that date:

Particulars T T
| Capital 1,00,000
Plant and Machinery 25,000
| Depreciation on Plant and Machinery 2,500 ]
Ep‘airs to Plant 1,500 1
Wages o 000
 Wages 30,000
Wages Outstanding __"—'j__—— | 2,000

Contd...3
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Salaries for 11 months
Income Tax
Cash
Buildings
Depreciation on Buildings
_Purchases and Sales
Debtors and Creditors
Bills Receivable and Payable
Discount
 Stock, 1st April 2018
Interest Accrued
Overdraft
" Commission
Bad Debts

[ TOTAL

Other Information:
a) Stockon 31st March 2019 ¥ 35,000

2,000
3,96,000 | 3,96,000

page No.3

b) Write off further Bad debts Z 2,000 and maintain 5% provision for Bad

debts on Debtors

c) Goods costing 25,000 were sent to a customer on sale or return basis
on 30" December. These were recorded as actual sale. The rate of

Gross Profit was 1/5 of sale.

d) 1,200 paid as rent of the office were debited to Landlord account and

were included in the list of Debtors.

e) General manager was to be given commission at 10% of net profit

after charging such commission.
f) One month’s salary was outstanding.

g) Goods of the value of 3,000 have been destroyed by fire and the
Insurance Company has admitted the claim for  2,400.
h) Goods costing 500 were used by the proprietor.

i) Bills Receivable dishonoured 32,000

16. Mr. Akash owned p
rights on royalty basis. The

- WO
Minimum Rent Royalty Amount
Years @) (@)
2009 | 750 | 500

2000 L —

2010 1000 800
S| 00 900
2012 ~ 1500} 1750
—>013| 1500 1600
2013 e ,

The deficiency (s

payable (surplus
workings A/c and Mr. Akash A/c.

sk o ok ok o ok KoK kK

) within the next two years.

atent right. He granted a license to Mr. Saif to use such
following are relevant particulars:

hort workings) of any one year is to be set off excess royalty

Prepare Royalty A/c, Short
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B.Com. Semester I - Degree Examination
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MANAGEMENT PRINCIPLES AND APPLICATIONS

Time: 21/, Hours Max Marks: 60

10.

11,

12.

13.

14,
15.

16.

SECTION - A
Answer any FIVE of the following. (5x2=10)
State any four features of management.
What is BCG matrix?
Write the meaning of Span of Management.
Define planning?
What is Delegation of Authority?
State different types of motivation.

State any two principles of coordination.

SECTION - B
Answer any FOUR of the following. (4x5=20)
Write a note on Howthorne studies.
Explain steps in decision making process
What is organisation structure? Explain flow of authority and responsibility with
the help of diagram.
Explain Heryberg’s two factor theory of Motivation.
What are the Principles of effective control.

Explain the barriers to effective commutation.

SECTION - C
Answer any TWO of the following. (2x15=30)
Explain Henry Fayol’s Administrative Management Theory.
Define leadership. Explain different types of leadership.

What is strategic planning? Explain strategic planning process
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St Aloysius College (Autonomous)

Mangaluru
B.Com. Semester I - Degree Examination
February -0/
PRINCIPLES OF MARKETING
Time: 21/, Hours Max Marks: 60
SECTION - A
Answer any FIVE of the following. (5x2=10)
1. What do you mean by market segmentation?
2. What do you mean by advertising copy?
3. Who is a wholesaler?
4. What is a product life cycle ?
5. What do you mean by consumer behaviour?
6. What is green marketing?
7. What are the components of marketing mix.
SECTION-B
Answer any FOUR of the following. (4x5=20)
8. Explain the benefits of marketing.
9. What are the difference between selling and marketing concepts?
10. What are the benefits of branding?
11. What are the functions of packaging?
12. What are the objectives of sales promotions?
13. Write a short note on online marketing ?
SECTION - C
Answer any TWO of the following. (2x15=30)
14. Explain the stages involved in new product development.
15. Explain micro and macro environment in marketing.
16. What are the features of rural marketing? What are its significance?
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St Aloysius College (Autonomous)

Mangaluru

B.Com. (International Finance) semester I - Degree Examination

February - 2022

INTERNATIONAL FINANCIAL ACCOUNTING

Time: 21/, Hours Max Marks: 60

SECTION - A

Answer any FIVE of the following. (5x2=10)

1. Oscar runs a sole trader business selling computers. On 12 January 20X7, he employed his

daughter as an administrator for the business and took a computer from the store room for
her to use in the office. What is the double entry for this transaction?
2. During the year, Ferguson made the following accounting entries to account for the
depreciation charge relating to motor vehicles:
Debit Accumulated depreciation — motor vehicles $5,000
Credit Depreciation expense — motor vehicles $5,000
What journal entry is required to account correctly for the depreciation charge for motor

vehicles for the year?

3. Identify whether each of the following characteristics is a fundamental qualitative
characteristic or an enhancing qualitative characteristic of useful financial information
according to in the IASB’s Conceptual Framework for Financial Reporting

a) Comparability

b) Timeliness

¢) Faithful representation
d) Understandability

4. The petty cash balance at 30 November 20X9 was $25. The following transactions

occurred during November 20X9:

(1) Refreshments were purchased at a cost of $7.25.

(2) Travel expenses of $12.75 were reimbursed to an employee.
(3) The cleaner was paid $15.

What was the petty cash floatat 1 November 20X9?

5. An item of inventory was purchased for $500. It is expected to be sold for §1 ,200
although $250 will need to be spent on it in order to achieve the sale. To replace the same

item of inventory would cost $650. At what value should this item of inventory be
included in the financial statements?

6. A non-current asset Was purchased at the beginning of Year 1 for $2,400 and depreciated
at 20% per annum using the reducing balance method. At the beginning of Ycar 4 it was
sold for $1,200. What was the profit or loss on disposal?

Contd...2
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The statement of financial position of Cartwright Co shows closing r g
e stateme

. Cartwright Co paid
$320,568. The statement of profit or loss showed profit of $79.285. Cartwrig p

last year’s dividend of $12,200 during the year and
year end. This had not been approved by the shareho

proposed a dividend of $13,500 at the

|ders at the end of the year. What is
the opening retained eamings balance?

SECTION - B
Answer any FOUR of the following.

Norris notes down the following transactions that happened in June.
1 Sell goods for cash for $60.

2 Pay insurance premium by cheque — $400.

(4x5=20)

3 Sell goods for $250 — the customer will pay in a month.

5 Buy $170 goods for resale on credit.

8 Buy a new computer for the business for $800, paying cash.
Record these transactions using ledger accounts.

The following is the extract of Jordan's trial balance as at 31 December 20X7:
DR
$
Rent 22,000
Insurance 30,000
The following notes have been provided:
(1) The monthly rent charge is $2,000.
(ii) The annual insurance charge for the above year is $28,000.
What is the charge for rent and insurance for the year and the closing accrual and
prepayment?
:)ul:)a::; greconcnhanon statement for Dallas at 30 June 20X5 is being prepared. The

information is available:

(1) Bank charges of $2,340 have not been entered in the cash book.
(2) The bank statement shows a balance of $200 Dr.

(3) Unpresented cheques amount to $1,250.
(4) A direct debit of $250 has not been record

(5) A bank error has resulted j
In a cheque for $97 being deb; "
S g debited to Dalag account instead

ed in the ledger accounts,

(6) Cheques recejveq but not yet banked amounted o $890

What will be the fi i i
inal balance jp, the cash book afier all necessary adj
S ustments?

Contd...3
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A suspense account was opened when a trial balance failed to agree. The following errors
were subsequently discovered:

Error

(1) A gas bill of $420 had been recorded in the Gas account as $240.

(2) A payment of $50 for stationery of $50 had been credited to Discounts received.

(3) Interest received of $70 had been entered in the bank account only.

If the errors when corrected clear the suspense accoust, what was the original balance on
the suspense account?

At the end of 20X7, Chester’s receivable’s balance is $230,000. He wishes to make
specific allowance for Emily’s debt of $450 and Lulu’s debt of $980. Irrecoverable debts

of $11.429 should be written off. What amount should be charged or credited to the

statement of profit or loss in respect of irrecoverable debts and the allowance for

receivables if the allowance at the start of the year was $1 1,700?

Your firm values inventory using the periodic weighted average cost method. At 1
October 20X8, there were 60 units in inventory valued at $12 each. On 8 October, 40 units
15 each, and a further 50 units were purchased for $18 each on 14

75 units were sold for $1,200. What was the value of closing

were purchased for $
October. On 21 October,
inventory at 31 October 20X8?

SECTION - C

Answer any TWO of the following.
Carbon is a limited liability entity. A trial balance for the year ended 31 December 20X5

Dr Cr Qs
- $ s |
50,000 |

Revenue
Purchases 180,000
140,000

Administrative expenses

Distribution expenses 56,000
Plant and machinery — cost 150,000
Plant and machinery — accumulated depreciation at
1 January 20X5

Trade receivables
Allowance for receivable
finventory — 1 January 20X5
Share capital B

Trade payables 4{1

(2x15=30)

is presented below.

36,000
s — 1 January 20X5 2,500
33,000 |

Retained earnings — 1 January 20X5
r 20X9 150000 )

5,000

PEEEEEECEEE Dt

8% Loan — repayable 31 Decembe

Cash ——
e ———

e

e 600,000 600,000

e I E— ]

T Contd.. .4
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The following notes are relevant to the preparation of the financial statements for the year
ended 31 December 20X5:

a) The current year tax charge has been estimated at $5,000.

b) It has been determined that trade receivables of $1,500 are irrecoverable. In addition,
it was decided that the allowance for receivables should be increased by $1,000.

¢) Depreciation on plant and machinery is charged at 20% per annum on a reducing
balance basis. Depreciation is charged to cost of sales.

d) The loan was taken out on 1 October 20X5. No interest has been accrued.

€) Closing inventory has been correctly valued at $27,000.

f) A customer bought goods on credit from Carbon for $1,000 on 5 December 20X3. The
customer returned these goods on 28 December 20X5. No entries have been posted for
this return.

g) Carbon is being sued by a customer regarding the sale of goods that the customer

believes to be defective. Legal advisers think that it is probable that Carbon will lose the

case and that they will have to pay damages of $20,000 in 20X6. Legal expenses are
charged to administrative expenses.

Prepare a statement of profit or loss of Carbon the year ended 31 December 20X5
and statement of financial position as at 31 December 20X5.

Neville is an entity that manufactures and retails office products. Its summarised

financial statements for the years ended 30 June 20X4 and 20XS are given below:

Statements of profit or loss for the year ended 30 June

20X4 20X5 |
$000 $000
| Revenue 1,159,850 |1,391,820
Cost of sales (753,450) (1 ,050,825)4
-
Gross profit 406,400 340,995

Operating expenses l(1770,950) (161,450)

Profit from operations !| 235.450 179,545

Finance costs (14,000) | (10,000)
Profits before tax 221450 | 169,545
Tax | (66,300) | (50.800)
==l
Net profit 155150 | 118,745
gﬁ

—

Contd...5
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t_ Statements of ﬁnanciamsition as at 30 June { e |
] 204 a5
L s000 | T T $000 |
Won-current assets 341,400 { 509.59(
Current Assets o ‘ 1 o
Inventory 88.760 109.400 -]
Receivables | 206,550 419.455
Bank 95,400 e
B
| e ]
390,710 528,855
732,110 1,038,445

I
quity and reserves

—
Share capital 100,000 100,000 ﬂ

Share premium 20,000 20,000
Revaluation reserve - 50,000

Retained earnings 287,420 376,165
407420 546,‘1;&
Non-current liabilities
Loans 83,100 Fel.aog
Current liabilities
Payables 179,590 345,480
Overdraft — 30,200
Tax 62,000 55,000

r 241590, 430,680&

732,110 1,038,445

The directors concluded that the revenue for the year ended 30 June 20X4
fell below budget and introduced measures during the year ended 30 June
20X5 to improve the situation. These included:
a) cutting selling prices
b) extending credit facilities to customers
¢) leasing additional machinery in order to be able to manufacture more products.
The directors are now reviewing the results for the year ended 30 June 20X5.
Calculate the ratios for and comment upon the profitability, liquidity/efficiency and

financial position of Neville for 20X4 and 20X5
Contd...6
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i .diary S for the year
Set out below are the draft statements of profit or loss of P and its subst

ended 31 December 20X7.

On 1 January 20X6 P purchased 75% of the equity shares in S-

P
$000

Revenue 300
Cost of sal 180
(Cost of sales (180)
I e
Gross profit 120
Operating expenses (47)
Profit from operations 73
Finance costs
Profit before taxation 73 S5 J
Tax (25) (16) J
Profit for the year 48 39 ‘

During the year S sold goods to P for $20,000, making a mark-up of one third. Only 20%
of these goods had been sold before the end of the year, the remainder is still in inventory

Prepare the consolidated statement of profit or loss for the year ended 31 December
20X7

o e o ok o ok o o ok ok
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St Aloysius College (Autonomous)
Mangaluru

B.Com. (INTERNATIONAL FINANCE) Semester I - Degree Examination

February - 202-2-

ORGANISATIONAL BEHAVIOUR
Max Marks: 60

Time: 21/, Hours

10.
11,

12.
13.

14,

15.

16.

N O U A wN e

SECTION - A

Answer any FIVE of the following. (5x2=10)
Define Organisational Behaviour.
What is Reinforcement in learning process?
Define' Personality'.
What is Group Dynamics?
Define Perception.
What is Free-rein leadership?
What is Carrot and Stick motivation?

SECTION-B
Answer any FOUR of the following. (4x5=20)
Discuss the nature of Organizational Behaviour.
Explain the external factors affecting change in an organisation.
Write any five differences between leaders and managers.
What are formal and informal groups? Briefly explain.
Explain the meaning and nature of attitude
Explain Herzberg's Motivation Theory.

SECTION -C

(2x15=30)

Answer any TWO of the following.
What is work stress? Explain the sources of stress and strategies to overcome

stress.
What is conflict? Explain the causes of organisation conflict and methods of

conflict management strategies

Discuss the various models of organisational behaviour,
sk ok ok ok o okok ok ok ok
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SECTION - A
Answer any NINE of the following.
1. What is Ad hoc report generation in ERP System?

9x2=18)

What are the tw b ; :
& o elements (minimum requirements) that determines the G/L Account in

Chart of Account?
Define Journal Vouchers and mention any two features.

N

What are Journal entries and what information does it store?
Define Trading Account and give formula to calculate Gross Profit.
Explain posting templates, its types and mention any two uses

What is the meaning of recurring posting?
what is the procedure to

© N o u s~ w

If accounting clerk made a wrong posting of Journal entry,
correct it?
9. Describe Golden rules of accounting.

10. What is the meaning of incoming payments under ERP system?

11. Explain in short “Trade Debtors (Domestic) Account™.

SECTION - B
Answer any SIX of the following. (6x5=30)

12. Create the following ledger Accounts under correct group

Accounts receivable_Al
Machinery GLX_Al
Advertisement on Social media_Al
Loans Payable _Al

Accounts Payable_ Al

Bonds Payable_Al

Common Stock_Al

Retained Earnings _Al

o0 oW

@ oo

13. Your company p nventory from Ganesh Electronics Bangalore.
Record the transactions in the books of Accounts and show the necessary Journal
Entries, generate Inventory Report and G/L Accounts. Prepare the Accounts using

Purchase A/P Invoice.

Item name
Vol}e}s_é_cﬁ | 500
' R134A FLORAN | 100
| e A o ————
LG Smant TV 1500 INR 14000 |

s avel d to 08_Pumpwell Mangalore

NE&E Aﬁ items are locate

urchased following 1

Price
INR 20000
INR 300 1

Contd...2
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14. You are requested to record the following sales:

Mitewm T : i "Customers
Item name ' Quantity | Price ~UsTO> = s
Voltas AC i ?50 units | INR 20000 | Pai sales Mangalor

jgerators
'RI34AFLORAN | 50 Units | INR350 | AONE Refrigera

IT i 5 tar Dealers Maﬁ@lore
LG Smart TV ' 300 Units INR 2500 | Seven sta i
l I ———

. : ntries of the
Write the Sales A/R procedure on ERP System and explain the journal e
above transaction in detail.

S explain the
15. Record the following business transactions in the books of accounts and exp
Application of Golden Rule.

' SL.No | Particulars _Amount in INR
j 1 | Advertisement expenses ‘
a) Face Book Ads INR850/- j
b) Instagram Ads INR 690/- 2540 |
c) TV Ads INR1000/- |
|
2 : General Salaries 15000 |
|3 | Donations Paid 25000 |
| 4 Commission paid 6589 l
5 Rent Received 5600 |
6 Stationary purchased 589
7 Scrapping — Spare parts 7869
8 Royalty Received ' 8 000 |
9 Rental Income l(ML
10 Interest on Investment Income \ 1100

You are required to export the transaction journal entry report to spreadﬁet
16. On 18/09/2020 your accountant posted the following wrong entries:

1. Royalty amount INR 18,000/- received was posted as Royalty paid

2. Rent paid INR 28,000/~ was posted as Royalty paid
Both the errors need to be rectified as on current date. You are required to
a) Prepare the strategy to correct the errors and suggest the solution.
b) Generate Journal Entry reports before correction a

nd after correction and
note down the changes

17. Prepare Cash receipts from the customers

Customer Payment received ]
Pai sales Mangalore 25% -
| |
{ AONE Refrigerators 50%

' Seven star Dealers Mangalore | 30%

[ .
Explain the changes in Customer Balance account,

Trade Debto ;
Account and Cash Account in detail and show the rs (Domestic)

report in Spreadsheet.
18. Prepare Cash payments to Ganesh Electronics Bangalore based on the open jte

m.
a) Make 50% of payments through cash account and

account _
b) Explain the changes in Vendor Balance account, Trade Cregq
Account and Cash Account in detail and s},

show the Vendor balance

itors (Domestic)
OW the report i Spreadsheel.

Contd....
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SECTION - C
Answer any ONE of the following.

Prepare the organization chart using the following information:

(1x12=12)

'SL Employee Name | Designation _-!’B;“’Ch‘f’ﬂ%

NO i B
1— Melroy souza CEO "MAIN (Mangalore) |
i____ Brayan D’silva Finance Manager Main ' ‘
L3 Anupama Menon | Sales manager Main

4 Ajayan devasy Technical Manager | Main
j Sameer Ahmed H R manager Main

6 Randall Harris Production Manager | Main |
K Supriya Hegde Lead Manager | Main |

You are directed to give full authorization to the following employees in their
concerned Department/group

Melroy souza

Brayan D’silva

==
Anupama Menon

Ajayan devasy

Sameer Ahmed

Note: Remember, one of the best practices of your company is to address the
employee in their Full name and record correct spelling in all its official

documents.

Your client company decides to go for a new product Research and Development
Estimated budget and expenditures are given below

Estimated Budget INR 90,00,000/-
Expenditure Heads

a) Employee Training INR 25,00,000/-

b) New Recruitment INR 15,00,000/-

¢) Machinery Purchase INR 1,50,000/-

d) Plant Development Expenses INR 18,00,000/-
¢) Software Purchase 15,50,000/-

f) Raw Material purchase INR 15,00,000/-

i) Identify correct journal Posting methods and state your reasons

ii) Prepare journal posting template and post the Journal Entry

iii) Explain the procedure in detail.

R RSS2 2 2
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i) Identify correct journal Posting methods and state your reasons

ii) Prepare journal posting template and post the Journal Entry

iii) Explain the procedure in detail.
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SECTION - C
Answer any ONE of the following.

Prepare the organization chart using the following information:

(1x12=12)

'SL Employee Name | Designation _-!’B;“’Ch‘f’ﬂ%

NO i B
1— Melroy souza CEO "MAIN (Mangalore) |
i____ Brayan D’silva Finance Manager Main ' ‘
L3 Anupama Menon | Sales manager Main

4 Ajayan devasy Technical Manager | Main
j Sameer Ahmed H R manager Main

6 Randall Harris Production Manager | Main |
K Supriya Hegde Lead Manager | Main |

You are directed to give full authorization to the following employees in their
concerned Department/group

Melroy souza

Brayan D’silva

==
Anupama Menon

Ajayan devasy

Sameer Ahmed

Note: Remember, one of the best practices of your company is to address the
employee in their Full name and record correct spelling in all its official

documents.

Your client company decides to go for a new product Research and Development
Estimated budget and expenditures are given below

Estimated Budget INR 90,00,000/-
Expenditure Heads

a) Employee Training INR 25,00,000/-

b) New Recruitment INR 15,00,000/-

¢) Machinery Purchase INR 1,50,000/-

d) Plant Development Expenses INR 18,00,000/-
¢) Software Purchase 15,50,000/-

f) Raw Material purchase INR 15,00,000/-

i) Identify correct journal Posting methods and state your reasons

ii) Prepare journal posting template and post the Journal Entry

iii) Explain the procedure in detail.
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FINANCIAL ACCOUNTING I

Time: 22 hours Max Marks: 60

SECTION - A

Answer any FIVE of the following.
. How the inventory has to be valued?
2. When is preparation of Adjusted Cash Book is mandatory while preparing BRS?

Why?
3. What you mean by depreciation? What factors are considered for calculation of

(5x2=10)

depreciation of a plant?
4. Write any four features of Bills of Exchange.
5. Ms. Dee draws a bill on Mr. Kay for Rs. 3,00,000 on 1.1.2021 for 3 months. On

4.2.2021, Dee got the bill discounted at 12% p.a. Calculate the amount of
discount.

Write a short note on Del-credere Commission.
When sale or return basis transactions are numerous, what are the books

maintained by the business entity?

SECTION-B

Answer any FOUR of the following.
8, The following errors were committed by the Accountant of M
Credit sale of Rs 400 to Kali Co. was posted to credit of their account.

Purchase of Rs 420 from Cena Co. was passed through Sales Day Book as

(4X5=20)
/s OCE Traders.

Rs 240
How would you rectify the errors assuming that:

(a) They are detected before preparation of Trial Balance.
(b) They are detected after preparation of Trial Balance but before
preparing Final Accounts.

(c) They were detected after preparation of Final Accounts.
9. Physical verification of stock in a business was done on 23rd February, 2020.
The value of the stock was Rs 56,00,000. The following transactions took

place from 23rd February to 29th February, 2020 :
() Out of the goods sent on consignment, goods at cost worth Rs

4,60,000 were unsold.
purchases of Rs 6,00,000 were made out of which goods worth Rs

2,40,000 were delivered on 5th March, 2020.
(3) Sales were Rs 27,20,000 which include goods worth Rs 6,40,000 sent
on approval. Half of these goods were returned before 29th February,
2020, but no information is available regarding the remaining goods.
(4) Goods are sold at cost plus 25%. However, goods costing Rs 4,80,000
had been sold for Rs 3,00,000.
Determine the value of stock on 29th February, 2020.

2
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Prepare Bank Reconciliation Statement from the following particulars as o
31st March, 2020.

" Particulars | _Rs
‘Debit balance as per bank column of cash book 18,60,000
Cheques issued to creditors but not yet presented for payment | 3,60,000

Dividend received by the bank but not entered in the cash book | 2,50,000

Interest allowed by bank -' 6,250
Cheques deposited into bank for collection but not collected by ‘ |
bank up to this date | 7:70,000
Bank charges not entered in cash book ! 1,000 |

A cheque deposited into bank was dishonored, but no intimation |
received ‘ 1,60,000 |
Bank paid house tax on our behalf, but no intimation received |

from bank in this connection L 1,75,000

On 31st December, 2020 goods sold at a sale price of Rs. 18,000 were lying
with customer, Mansi to whom these goods were sold on ‘sale or return basis’
were recorded as actual sales. Since no consent has been received from Mansi,
You are required to pass adjustment entries presuming goods were sent on

approval at a profit of cost plus 20%. Present market price is 10% less than
the cost price.

Explain, in brief, the basic considerations for distinguishing between capital and
revenue expenditures?

Explain Cash and Mercantile system of accounting

SECTION - C
Answer any TWO of the following. (2X15=30)
Max Chemical Works consigned 700 boxes of medicines to Raja Medical Stores
at an invoice price of Rs. 1,68,000 which was-20% above the actual cost price
and paid Rs. 14,000 for Insurance and freight. In the course of transit, 50
boxes were lost and the transporter paid Rs. 22,000 for the loss. The
Consignee took the delivery of the remaining boxes and incurred Rs. 9,750 for
carriage. The Consignee sold 500 boxes for Rs. 1,60,000 and incurred Rs.
6,000 for selling expenses. The Consignee is entitled to a commission of 6% on
gross sales.
Show the Consignment Account.
M/s. Dayal Transport Company purchased 10 trucks @ Rs. 50,00,000 each on
1st July 2017. On 1st October, 2019, one of the trucks is involved in an
accident and is completely destroyed and Rs. 35,00,000 is received from the
insurance in full settlement. On the same date, another truck is purchased by
the company for the sum of Rs. 60,00,000. The company writes off 20% of the
original cost per annum. The company observes the calendar year as its
financial year.

Give the motor truck account for two years ending 31st December, 2020.
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On 1st July, 2016 Gorge drew a bill for Rs.1,80,000 for 3 months on Harry for
mutual accommodation. Harry accepted the bill of exchange. Gorge had
purchased goods worth Rs.1,81,000 from Jack on the same date. Gorge
endorsed Harry’s acceptance to Jack in full settlement. On 1st September,
2016, Jack purchased goods worth Rs.1,90,000 from Harry. Jack endorsed the
bill of exchange received from Gorge to Harry and paid Rs. 9,000 in full
settlement of the amount due to Harry. On 1st October, 2016, Harry purchased
goods worth Rs.2,00,000 from Gorge. Harry paid the amount due to Gorge by

cheque. Give the necessary journal Entries in the books of Harry and Gorge.

sk s ok ok ok ko K



Ro 2 Pakeh onwonds ]3

G 340 DC2.1 Reg.No.: [ | | i-——!T ]
I SN S B E-——-—-—

St Aloysius College (Autonomous)
Mangaluru
Semester I- Degree Examination
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BUSINESS LAW

Time: 2%z hours Max Marks: 60
SECTION - A
Answer any FIVE of the following. (5x2=10)

1. What do you mean by a Voidable - Contract?

2. What is Consideration?

3. What is the remedy for an Anticipatory Breach of Contract?

4. What is price in a Contract of Sale?

5. Who is an Unpaid Seller?

6. Who is a Nominal Partner?

7. What is the minimum and maximum limit to form a partnership firm?

10.

11,

SECTION - B
Answer any FOUR of the following. (4X5=20)
Ms. R owns a Two - Wheeler which she handed over to her friend Ms. K on sale
or return basis. Even after a week, Ms. K neither returned the vehicle nor made
payment for it. She instead pledged the vehicle to Mr. A to obtain a loan. Ms. R
now wants to claim the Two - Wheeler from Mr. A. Will she succeed?
Examine with reference to the provisions of the Sale of Goods Act, 1930, what

recourse is available to Ms. R?
Would your answer be different if it had been expressly provided that the

vehicle would remain the property of Ms. R until the price has been paid for?
Write a short note on ‘Caveat Emptor’ under The Sale of Goods Act, 19307
“Business carried on by all or any of them acting for all.” Explain this statement
with reference to The Indian Partnership Act, 1932.
Mr. B makes a proposal to Mr. S by post to sell his house for X10 lakhs and
posted the letter on 10th April 2020 and the letter reaches Mr. S on 12th April
2020. He reads the letter on 13th April 2020.
Mr. S sends his letter of acceptance on 16th April 2020 and the letter reaches
Mr. B on 20th April 2020. On 17th April Mr. S changed his mind and sends a
telegram withdrawing his acceptance. Telegram reaches Mr. B on 19th April
2020.
Examine with reference to the Indian Contract Act, 1872:

a) On which date, the offer made by Mr. B will complete?

b) Discuss the validity of acceptance.
c) What would be validity of acceptance if letter of revocation and letter of

acceptance reached together?
Contd...2
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What are the exceptions under S
“Nemo Dat Quod Non Habet.” Explain

ection 25 of The India

this statement & any 5 exceptions to the

same.
SECTION - c

Answer any TWO of the following.

a) Rahul, Pushpa and Madhav jointly

each of the following in the light of Th
el only Pushpa to pay t

borrowed 312,00,000 from Tarun. Decide

e Indian Contract Act, 1872:

(i) Whether Tarun can comp he entire loan of
Z12,00,000?

(II)Whether Tarun can compel only the legal represent
the loan of 212,00,000, if Rahul, Pushpa and Madhav died?

(iii) What would be the case if Rahul were adjudicated as an insolvent and his

assets are sufficient to pay one-fifth of his share alone? (7 marks)

b) What is Undue Influence? Explain the

atives of Madhav to pay

provisions relating to the same.
(8 marks)

a) Mr. T was a retail trader of fans of various kinds. Mr. M came to his shop

and asked for an exhaust fan for kitchen. Mr. T showed him different brands
and Mr. M approved of a particular brand and paid for it. Fan was delivered at
Mr. W's house; at the time of opening the packet he found that it was a table
fan. He informed Mr. T about the delivery of the wrong fan. Mr. T refused to
exchange the same, saying that the contract was complete after the delivery of
the fan and payment of price.
(i) Discuss whether Mr. T is right in refusing to exchange as per provisions of
Sale of Goods Act, 19307
(ii) What is the remedy available to Mr. M? (6 marks)
b) What are Conditions? Explain the differences between conditions and
warranties. What are the cases when a Condition can be treated as a warranty?
(9 marks)

a) M, N and P were partners in a firm. The firm ordered JR Limited to supply
the furniture. P dies, and M and N continue the business in the firm's name.
The firm did not give any notice about P's death to the public nor to the
persons dealing with the firm. The furniture was delivered to the firm after P's
death, the fact about his death was known to them at the time of delivery.
Afterwards the firm failed to pay the price of furniture to JR Limited.
Explain with reasons:

i) Whether P's private estate is liable for the price of furniture purchased

by the firm?

i) Does it make any difference if JR Limited supplied the furniture to the
firm believing that all the three partners are alive?

(5 marks)

b) State any 4 rights of a partner. ( )

isi 4 marks

¢) What are provisions relating to Expulsion of a partner? (6 marks)
‘ mar
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SECTION - A
Answer any FIVE of the following. (5x2=10)

1. If the relationship between two variables x and y is given by 2x + 3y + 4 = 0,
then what is the value of the correlation coefficient between x and y?

2. If2x + 3y + 4 = 0 and v(x) = 6 then calculate v (y).

3. [If the two quartiles of a normal distribution are 47.30 and 52.70 respectively,
what is the mode of the distribution?

4. Ifu=2x+5andv = -3y - 6 and regression coefficient of y on x is 2.4, what
is the regression coefficient of v on u?

5. Net Monthly income of an employee was Rs.800 in 1980. The consumer price
Index number was 160 in 1980. It rises to 200 in 1984. If he has to be rightly
compensated. What is the additional dearness allowance to be paid to the
employee?

6. State any two Characteristics of Tabulation.

If AM and coefficient of variation of x are 10 and 40 respectively, what is the
variance of (15-2x)?

SECTION - B
Answer any FOUR of the following.

8. Given that the mean height of a group of students is 67.45 inches. Find the
missing frequencies for the following incomplete distribution of height of 100

(4X5=20)

students.

" Height in inches} 60-62 | 63-65 | 66-68 | 69-71 | 72-74 |
i | : |

' No. of Students | 5 18 s ] = | =

of k so that the interval [500, k] covers 40.32 per cent area of the normal

curve? Given o (1.30) = 0.9032.
There are two urns containing 5 red and 6 white balls and 3 red and 7 white

If two balls are drawn from the first urn without

10.

balls respectively.
replacement and transferred to the second urn and then a draw of another

two balls is made from it, what is the probability that both the balls drawn are

red?

11. While computing rank correlation coefficient between profit and investment

for the last 6 years of a company the difference in rank for a year was taken 3
instead of 4. What is the rectified rank correlation coefficient if it is known

that the original value of rank correlation coefficient was 0.4?
Contd...2
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ii dian and also its Coeffi.
iat] m (i) Mean and (i) Me i
Find the Mean deviation from (i)

for the following data:

"Marks | '_20
No of StudentsT

tra
List out the crltena s for an Ideal Measure of Cen
SECTION - Cc

14 | 12 | | 10 I

18_1#?7 | 14 1_1

| Tendency.

18 | 16

- (2X15=3,
Answer any TWO of the following.

i f two shares
The following data relate to the mean and SD of the prices 0 €sin 3

stock Exchange:

Share Mean (in Rs) | SD (i%
Company A 44 5.60 |
Company B 58 6.30 |

Coefficient of correlation between the share prices = 0.48
Find the most likely price of share A corresponding to a price of Rs 60 of share
B and also the most likely price of share B for a price of Rs 50 of share A.
a) The independent probabilities that the three sections of a costing
department will encounter a computer error are 0.2, 0.3 and 0.1 per week
respectively. What is the probability that there would be

(i) at least one computer error per week?

(ii) one and only one computer error per week? (8 Marks)
b) In connection with a random experiment, it is found that
P(A) = 2/3
P(B) = 3/5
P(AUB) = 5/6
Evaluate the following probabilities:
(i) P(A/B) (ii) P(B/A) (iii) P (A/ B) (7 Marks)
a) Construct with the help of the data given below

(i) Laspeyre’s Index (ii) Paashe’s Index (iii) Dorbish Bowley’s Index
(iv) Marshall Edgeworth’s Index (v) Fisher’s Ideal Index

Commodity | Base Year Base Year | Current Year | Current Year |
Price (Rs) Quantity Price Quantrty
Wheat 8 50 20 | 0 |
Ghee 2 15 6 | 10 |
Firewood 1 20 2 | 25
Sugar 2 ' 10 |5 g
| Cloth 1 40 |3 T390
(10 Marks)

b) Calculate the Quartile Deviation and Coefficient of Quartile Deviation for
the following data:

Age (in Years) |20 !30 [40 [50 Te0 ErRET:

I| No of Members | 3 ’61 132 | 153 | 140 (51 |3 ]
K ]

(5 Marks)
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UNIT - I (PROSE)
Answer the following in a word /phrase/sentence each: (5x1=5)

What according to Tocqueville is the term used to suggest the root of
patriotism among American people?

What qualities of his father did Kalam inherit?

What is capitalism?

Who was the head jailer in charge of hanging?

Who complained that wealth accumulates and men decay?

Answer any THREE of the following in about 150 words each:
(3x5=15)

Comment on the author's opinion of Americans and the kind of

patriotism they display?

What are the two aspects of the sea that Kalam came to understand

through his childhood experiences?

Do you think the dog’s sudden appearance has any impact on the
essay? Provide reasons for your answer.

How does Shaw use the analogy of dress making to discuss how
capitalism has restricted people’s skills?

UNIT - II (POETRY)

Answer any TWO of the following in about 150 words each:
(2x5=10)

Explain how cosmic pattern is connected to the pattern of human life in

the poem, “"Night and death.”

How is the tiger’s strength depicted in the poem, “The Tyger?”

How is death presented in the poem, "Do Not Go Gentle into That Good

Night?”

Cogmment briefly on the treatment of time in the poem, “A Hot Noon in

Malabar.”

UNIT - III (SHORT STORY)

Answer any TWO of the following in about 120 words each.
(2x5=10)

Do you think Celia and Ronald will make an ideal couple? Justify your

answer.

Do you think the narrator had a role in arranging all the things for their

marriage?

Describe the life of the Bashkirs.

Why does Pahom buy more and more land? What does this signify?

UNIT - IV (GRAMMAR AND WRITING SKILLS)
Fill in the blanks with appropriate idioms and phrases given in
brackets. (5x1=5)

For months, she kept saying that she wants to marry Robert, and then
one day, _ ______she announced that she is moving to Spain alone.
Sharat ________ for the buffet as soon as he entered the restaurant.

Contd...2
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It looks like you ______. What's wrong? .
If we have millions of pounds to spend, should we not think of spending

j i try?
them on the poor and the in this coun
A pat lunch time can make you feel refreshed.

[catnap, down and out, feel blue, out of the blue, make 3
beeline, call the shots, blow by blow]

Write a dialogue in about 150 words in five turns each. (1x5=5)
Write a dialogue that takes place between you and your professor
regarding the network issues faced during the online classes.

Develop a story based on the hints given below in about 150
words. (IxTnE)
An old farmer.....four sons... lazy sons.... farmer worried.... death
bed.... Summons his sons.... treasure buried....neglected field....sond dig
hard....rain falls..sow the seeds.... reap a harvest.... discover the real
treasure.

Read the following passage and answer the questions that
follow.

The Indian youth is accused of being impatient, indisciplined,
disrespectful to the elders and irresponsible towards society and
authority. It was felt that to curb these tendencies the youth required
to be motivated in nation-building activities and made responsive to the
social concerns,

For this purpose, National Service Scheme (NSS) was introduced in
1969. Its main aim was to involve the students of the colleges and +2
level on voluntary and selective basis in programmes of social services
and developmental activities. Gradually it was adopted by all the states
and union territories. Today it covers more than 5000 colleges all over
the country. Under this scheme, rural and slum reconstruction, repair of
roads, school buildings, ponds, tanks, plantation of trees, environment
protection, health and family planning and education of adults and
women are undertaken. The NSS students aid local authorities in
implementing various relief and rehabilitation schemes. In the times of
natural calamities like famines, floods, droughts, epidemics and
earthquakes volunteers helped by NSS students play a very positive
and constructive role. It instills in them the spirit of social service and
the sense of responsibility.

The tribal youth are given vocational training under a special scheme to
enable them to become self-employed. Then, there are youth hostels
set up all over the country to provide cheap accommodation to the
youth to inspire them into undertaking educational tours and excursions
to visit the cultural and historic sites to revisit our glorious past. 446
Nehru Yuvak Kendras strewn around the country provide vocational
training to non-student rural youth and improve their personality.
‘Bharat Scmfts and Guides' and “All India Boy Scouts Association’ are
teaching Indian youth the importance of loyalty and goodwill for others
under International scouting and guiding movement,

What is Indian youth accused of?

What scheme was introduced to involve stud
developmental activities?

What works are undertaken under this scheme?

For what purpose youth hostels with cheap accommodation
are set up.

Give a suitable title to the passage.
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UNIT - I (Introduction to Communication)
1. A) Answer any ONE of the following in about 250-300 words:
(10x1=10)
1. Write a note on LSRW skills with respect to technical communication.

2. Specify some of the barriers to effective communication in detail with
examples.

B) Read the following passage and answer the questions below:

Once an inventor has discovered a use for a new technology, the next step
is to persuade society to adopt it. Merely having a bigger, faster, more
powerful device for doing something is no guarantee of ready acceptance.
Innumerable such technologies were either not adopted at all or adopted
only after prolonged resistance. Notorious examples include the u.s.
Congress's rejection of funds to develop a supersonic transport in 1971,
the world's continued rejection of an efficiently designed typewriter
keyboard, and Britain's long reluctance to adopt electric lighting. What is it
that promotes an invention's acceptance by a society?

Let's begin by comparing the acceptability of different inventions within
the same society. It turns out that at least four factors influence
acceptance.

The first and most obvious factor is relative economic advantage
compared with existing technology. While wheels are very useful in
modern industrial societies, that has not been so in some other societies.
Ancient Native Mexicans invented wheeled vehicles with axles for use as
toys, but not for transport. That seems incredible to us, until we reflect
that ancient Mexicans lacked domestic animals to hitch to their wheeled
vehicles, which therefore offered no advantage over human porters.

A second consideration is social value and prestige, which can override
economic benefit (or lack thereof). Millions of people today buy designer
jeans for double the price of equally durable generic jeans—because the
social cachet of the designer label counts for more than the extra cost.
Similarly, Japan continues to use its horrendously cumbersome kanji
writing system in preference to efficient alphabets or Japan's own efficient
kana syllabary—because the prestige attached to kanji is so great.

Still another factor is compatibility with vested interests. This book, like
probably every other typed document you have ever read, was typed with
a QWERTY keyboard, named for the left-most six letters in its upper row.
Unbelievable as it may now sound, that keyboard layout was designed in
1873 as a feat of anti-engineering. It employs a whole series of perverse
tricks designed to force typists to type as slowly as possible, such as
scattering the commonest letters over all keyboard rows and
concentrating them on the left side (where right-handed people have to
use their weaker hand). The reason behind all of those seemingly
counterproductive features is that the ty.pewriters of 1873 jammed if
adjacent keys were struck in gulck succession, so that manufacturers had
to stoiy down typlsts. When improvements. in typewsiters eliminated the
problem of jamming, trials in 1932 with an efficiently laid-out

Contd...2
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ing speed and reduce
keyboard showed that it would let us double O'LI'J\; tligltnbgoa‘r)ds ere: Salll,
our typing effort by 95 percent. But QWER hundreds of millions of
entrenched by then. The vested interests of R mputer salespeaple,
QWERTY typists, typing teachers: typewriter an °| keyboard efficiency for
and manufacturérs have crushed all moves towar
over 60-years.
While the story of t
similar cases have involved much

d may sound funny, many
he QWERﬂhel;eV\;gf EI(.;;c.non*nylc consequences. Wh_y
; id market for transistorized electronic
does Japan now dominate the wor < the United States's balance
consumer products, to a degree that damag tors were invented and
of Davments with Japan, even thoth trans ht transistor Iicensing
patented in the United States? Because Sony b::);g R rerican electronics
rights from Western Electric at a time when th€ dels and reluctant to
consumer industry was churning out vacuum tube models
compete with its own products. o
Whypwere British cities still using gas street lighting into the 19295{1 I‘on%
after U.S. and German cities had converted to electric stree_t hg ting?
Because British municipal governments had invested heavily in gas
lighting and placed regulatory obstacles in the way of the competing
electric light companies. .
The remaining consideration affecting acceptance of new technologies is
the ease with which their advantages can be observed. In A.D. 1340,
when firearms had not yet reached most of Europe, England's earl of
Derby and earl of Salisbury happened to be present in Spain at the battle
of Tarifa, where Arabs used cannons against the Spaniards. Impressed by
what they saw, the earls introduced cannons to the English army, which
adopted them enthusiastically and already used them against French
soldiers at the battle of Crecy six years later.

What are the four factors which influence the acceptance of an invention
within a society?

(2)
Find words from the passage closest in meaning to- (2)
a. Unacceptable
b. Side-by-side
Ancient Native Mexicans had wheeled vehicles with axles for their
transportation. (True/False) (1)
Wrif:. an essay on any ONE of the following in about 200-250
words.

. (10x1=10
Climate-change as a threat has largely been ignored by the g|obg1

community. Write an essay either FOR or AGAINST the topic
The NEP focuses on physical .

well-bein | i i
development of students, 9 along with intellectual

UNIT - II (Sentence Types, Voc

: a
Choose the right one word subst bulary and Usage)

itute from the options provided.
Enclosed in a small closed space, (4X1=4)
(CIusterphobia/Liftophobia/qaustmphobia)
The art of preserving skin of animals. bi
: s, b
(Taxology/Taxidermy/Taxiturn) Fas. fishes.
Release of a prisoner from jail o i
(Parole/Probation/Pardon) Jall on certain terms and condition.
To renounce a high position of :
(Abduct/Abdicate/Abandon) . - 0TIty O control.
Choose the appropriate s
options provided. ynonym of the underlined word from the

The inspector was a vigi

n
Ritu asked Rashmi not to young man,

: ; meddle i
(mtercede/lmpose/interfe'?)e% in her affairs
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c) Choose the appropriate anton
) options provided. ym of the underlined word fm(“;xt:‘:z)

1. She is unable to comprehend th i
(stern/ethical/mean) e wicked ways of the government.

2. The public notice urged all the

i citi i igilant.
(attentive/rash/negligent) itizens to remain vigilant

D) ;2:(:: the blanks with appropriate idioms from the options given
. (4x1=4)
donkey’s years, pull up your socks, break even, on the bench,

blow-by-blow, black sheep, showed his/her true colours, turned
over a new leaf

1. He seemed very peeved after being left for the big game.

2. Violet _____ when she smashed her fist on the table after losing
the debate.

3. The college has reopened after what feels like :

4. 1 am very impressed with the reporters. They gave a coverage

of the election-fraud.

. UNIT - III (Transformation of Sentences)
111. A) Identify the errors in the following e-mail and rewrite it: (4x1=4)

Subject: A humble request for extra air-conditioning units for the 2"
layer office space

Dearest michael
Could you kindly forward the following request to hr-

1. 6 extra air-conditioning units
2. 2 back-up fans in case electricity goes off.

It would mean a lot to the folks at the office if u could complete this
order ASAP.

yours dearly
Manoj Lead Accountant- Sujatha firms

B) Convert the following passage from direct to indirect: (1x5=5)

Peter: I am scared to reveal my true identity to everyone.

Mary: What are you on about, Peter? The world will love you.

Peter: You dont understand. Not everyone will get me and my
motivations. Not everyone will understand why 1 do what I do.

Mary: Okay, now you are being a tad bit melodramatic, not to mention
presumptuous, and very self-centered. ‘ _

Peter: You know what, let us do an experiment. Meet me in the Town

Square tomorrow at four in the afternoon. I will prove my point.
Mary: Fine, suit yourself. I am going to grab some lunch before classes

resume.

Convert the following sentences from Active to Passive: (4x1=4)

She shot the intruder in the ch.est. _ .
The commander told the recruits to jump into the well.

Ser ainted the entire house.
B$ tel:i: ti.?ime tomorrow we will have signed the deal.

pwNne0

UNIT IV- NOVEL

Iv. owing question: Coimia)
v . g:::;ﬁ; tg:a::ilr:e an\? two characters from the novel The Monk Who

g ; i eir impact on the protagonist’s life.
Sold His Ferrari and discuss :?:““"Fl
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F“U—‘ldb—-

Repondez aux 10 questions.
A quel 4ge peut-on normalement prendre sa retraite en France ?
Combien de semaines de congés y a-t-il en France ?
Qu’est-ce que c’est le salarié ?
Le systéeme d’éducatif en Franceest _, __» et
Qui ont le pouvoir de mettre beaucoup de gens en gréve ?
paie les soins & I’hdpita
Si quelqu’un n’a pas de travail, il est au
a.Chomage b. syndicat
8. Nommez deux catégories professionnelles.
9. Quels sont les trois étapes des études supérieurs ?
10. Qu’est-ce que PENA ?
11. Quels sont les facultés qu'on
12. Qu'est-ce que I'TUT ?
13. Comment s’appelle I'examen final de lycée ?

N N B ) —

IL Mettez les verbs au Future simple
Est-ce que vous (aller) ...... 4 la piscine en €t€?

Le week-end prochain ils (courir).....un marathon.
Mardi prochain nous (pouvoir) .....nous rencontrer.
Demain je me (peser).......

I11. Complétez avee le passé composé

1

On (dire)..... gi"il va pleuvoir.
. Isabelle et Allain (parler) ...... avec les voisins.

2
3. Marc (prendre) .....la main de Marie.
4. Nous (mettre)....les sacs dans le coffe.
Iv. Répondez en utilisant les Subjectifs.
1. 1l ne faut pas que vous (parler)......... pendant le cours.
2. 1l est important qu'il (aller)....... 4 son rendez-vous.
3. 1l faut quetu tu ( étre) ........ 4 I’heure chez le médicin.
4. Je serrai ravi qu'il (réussir) .....son concours
V. Répondez en utilisant les pronoms Y ou EN
1. Habitez-vous en France ?
2. Est-ce que vous venez des Etats-Unis ?
3. Marie vient de la piscine ?
4. Est-ce que vous préférez aller a la plage ?

P e

15. What are the elements and enhancement of Self

k¢ 3 oK K K %Ok K K

Max Marks: 60

(10)

| et une partie de consultation chez le médecin ?

peut choisir dans ’université ? Nommez deux

(C))

(4

(4)

(4)

Contd...2
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(4)
VL Comparez

a) Isabelle et Monique (timide +)
b) Mangala et Sukanya ( chante =)
¢) L’avion et le métro ( rapide +)
d) Le poisson et la viande (+bon)

(10)
VIIL Comprehension
‘agi une question pédagogie
Le plaisir de lire s'est effondré partout dans le monde. III ne's agit parswtissn CcILSl o
i ial. L'une des explications ava ; . _
puisque cet effondrement est mondial. L'un p g

concurrencée. Les jeunes passent de plus en plus de temps 51..1r l-esff de loisirs a beaucoup
vidéo, etc. L'apparition des écrans ne date pas de 2000, mais l'offre

augmenté depuis ce temps. Le livre n'est plus le premier vecteur culturel. Il n'est qL? un nsu?d:a
parmi d'autres. L'envie de lire explique 18% de la variation des performances .Sc?la're’s'_ 1o
regarde la différence entre le quart des éléves qui dit apprécier lire et le quart qui n z?ppreC|e pas,
on compte un écart de trois années scolaires ! Le fait d'aimer lire et le fait d'obtenir de ‘bonnes
performances sont liés. La lecture reste fondamentale pour réussir, elle est partout nécessaire.

Selon nos résultats, les grands lecteurs de fiction obtiennent les meilleurs résultats. Mais les
€léves qui réussissent le mieux sont ceux qui utilisent différents types de lecture (BD, romans,
journaux). Ceux qui ne sont focalisés que sur un seul type de lecture réussissent moins bien. Il y
a aujourd'hui tellement d'alternatives a la lecture pour découvrir et comprendre le monde qu'une
baisse de la lecture classique n'est pas forcément étonnante. Cela dit, les jeunes ne lisent pas
forcément moins mais différemment. Ils lisent peut-étre moins les grands auteurs mais
d'avantage de petits articles et informations, ce qui n'est pas toujours valorisé. Clest tout le
paradoxe, la lecture est partout augourd hui, méme sur les écrans, mais cette lecture numeérique
est différente. '

Q.1 Complétez avec un mot/des mots du texte.
(i) Pourquoi la lecture s'est effondré dans le monde ?
(i1) Qui obtient le meilleur resultat ?

Q.2 Ecrivez vrai ou faux :
(1ii) Le plasir de lire est baissé seulement chez les jeunes. .......
(iv) Le livre est seulement un media parmi d'autres

Q3. Completez avec un mots/des mots

(v) On voit les baigneurs..... sur la plage. (effondre, partout,puisque)
(vi) Il m’............... des bonbons. (agit,regarde, offre)

(vii)moi, il faut accepter cette poste. (parmi, selon, mais)

(viii) Elle est trés.........de l'autre. (différente, differement, petits)

Q.4 Donnez
(xi) la forme nominale de « Jouer M,
(x) Le contraire « baissé »,. ..

Contd...3
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VIIL Ecrivez le dialogue

; . (10)
1. Votre ami va passer un examen (ou un entretien pour trouver du travail). Il n’est pas s
Vous le rassurez. ’

Ou

2. Vous étes avec un (e). ami (e). Vous entrez dans un magasin pour acheter un vétement (ou un

sac etc). La vendeuse vous accueille. Vous demandez conseil. Vous choisissez. Vous essayez le
vétement, etc.

IX. Ecrivez une lettre. (10)

Vous etes intéresse€ (e ) par I’emploi ci-dessous. Ecrivez au Conseil regional de Bourgogne.

REGIONAL DE BOURGOGNE

Recherche hotes et hdtesse trilingues, toutes nationalité, pour
representer la region dans les salons internationaux du tourisme.

|
|
|

T

ar de lui.

23
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B.A./B.Sc/B.Com/BBA/BCA - Semester I Degree Examination

February - 2022

ADDITIONAL ENGLISH
CROSS CULTURAL TEXTS-I

Time: 2Y2 hrs. Max Marks: 60

Il Al

II. A

III.A

UNIT - I (PROSE)

Answer any TWO of the following in about 100-150 words each:
(2x5=10)

Comment on Operation Qilin with reference to the short story “The

Human Phonograph.”

Elucidate on the importance of Ka Ktein in Khasi culture with reference

to “A Waterfall of Horses.”

How does Tharoor reconcile his passionate faith in India despite living

outside India for most of his adult life?

What according to Pamuk is important for the development of Europe?

Answer any ONE of the following in about 250-300 words:
(1x10=10)
How are the traditions and practices of the North-East and the
negotiation of the coloniai takeover presented in the short-story “A
Waterfall of Horses"?
Shashi Tharoor presents a diverse view of India in his introduction to
India: From Midnight to Millennium. Discuss with examples from the
text.

UNIT - II (NOVEL)
Answer any ONE of the following in about 250-300 words:
(1x10=10)
Critically evaluate the character of Bok in The Girl from Nongrim Hills.
Comment on the relationship between Bok and Kitdor in The Girl from
Nongrim Hills.

UNIT - III (POETRY)

Annotate any TWO of the following in about 100-150 words each.
(2x5=10)

All along the watchtower

Princes kept the view

While all the women came and went

Barefoot servants, too

Outside in the distance

A wildcat did growl

Two riders were approaching

; o howl
The wind began t Contd...2
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Iv-

2

N o=

ANN!—*

when it is truly time,

and if you have been chosen,

it will do it by _

itself and it will keep on doing it

until you die or it dies in you.

there is no other way.

and there never was.

But oh! 'tis coldly cruel to wound

The bosom whose blood must gush unbound.

No tear is so bright as the tear that flows

For erring woman's unpitied woes;

And blest be for ever his honoured name

Who shelters an orphan from sorrow and shame! oK T
Answer any TWO of the following in about 100- e
How is Meena Kandaswamy ‘demythifying’ the goddes§ of Ma'durai?

“The Orphan Girl” is a comment on the morality of somlety.“ Discuss.

Write a short note on the biblical allusions used in “All Along the
Watchtower”,

Comment on Charles Bukowski’s repetitions in the poem “So you want to
be a writer”,

UNIT - IV (Grammar and Writing Skills)
Fill in the blanks with appropriate idioms from the options given
below. (5x1=5)
have something UP your sleeve, donkey’s years, at all costs,
black sheep, to bank on, bet my bottom dollar, to pull up your
socks
He has met his professors after what feels like i
[ am willing to that India will lose this Test series as well.
We do not talk about her. She is the of the family.
Don’t worry about the delay. Yoy just have
complete the paper.

I am appalled at the way in which the bogs h
ast
am sure you . reated you. However, 1

and try to

magazine,

*********



(2021 Batch onwards)

%8 !
G-,39.Laﬂ3 Reg. No: l l |

fime: 2

1]

St Aloysius College (Autonomous)
Mangaluru

B.A. /B.Sc./B.Com Semester [ - Degree Examination

February - 2.02.%
KONKANI

DoRcsF 9% o TROROTF WCCIR.

9)

€)
)

&)

no)

1

o, Hemd R W)

2

2 AR S0 oomh3Fd

T W, L,’o JomeT
-ToUF LRVROT TOTY,
g, F oS SR
ﬁi:m 0 R0 XTF

Bodmr i, CRO0%

an SRT WF 2TCIR.

‘2 HAF B’ 250550,

goo&:‘ 330 ¢Bz0?

somorty smen Jedd gnere’?

o BRayimeuo Dowooss DT IIT WoPe” o0,

=2 gxf $30 RIF?

Dorecdy oy I 2oond® T WOKR.

rp HEw B00F Reg, IR n SeFoB0 KON IYOIR.
;ﬁ Zoe 2R dmmon OO LOo3%w.

UNIT - II

TTRUC ToORY® S0 ), 6oma&o‘?

oxt Foriodude 280350° Boe’?

AT AT gness OF7

o BES srdohnin SeF gers’?

12 Hours Max. Marks: 60

(5%x1=5)

(1x5=5)

(5%x1=5)

(1x5=5)

Contd...2



rage nNo, .

G 739.LA 8.1 (5x1=5)
Il Dowmcds® o mzey Rowess® DO

©) OT AT

©) Z&Q& (5)(1:5)

I DowRcss’® o Xvwed & Wi, e
i 2T W o
©) @95 ol 2omdn ERR TAR faasaﬁc‘ 2200 ol
BeIT DBYOIR:
8) DY TrdohoT e TOOWOT, 380 e

T - III
UNI (1)'(5:5)

I &) aw mmﬁa*’ I wIolR.
) BT AFT z:;?

©) @I A8 $30 20I0?

Q) RN, RONo Beest O, WO, SNTT RTOF?
;) SJnR Beeot e

) STROIFNO TLTBR WISRT B ?

1 2dctdocss® o 8emo, AME WD DO, TOTRFT® TOT® Qo ¢v3o IYe®. (1Xx5=5)

8) T swmﬁo N3 e 30°, &R 00T 3T e:’u'ga? R TOO.

@

) COMRE’ GO 5BRO IBONY, FRA, VM NF BIF ITWYo wRF wio

ML 002:2e3F QT NICT® T WTCSR. (1x5=5)
V) . FeIR Fook*® TEYO LTS DBO0I.
©) @I Poodk* FEPo BB ADMSIAVEE
IV.©) as TWRET T IR, (5%x1=5)
¥) FIET - WIDIBTT NTITT QoIR.
) Joree® NDITTHE o,
Q) FOET YT 3309
&) 303l Jdon’ DoBY
&) TS PRI 3309
V) Lowmcdy’ Sate ZEoees e wdedn,

ady EAAENE —~ea (5x2=10)
¥) SROEE JnFImey WOS, Wime so,

e
©) Erodido domo wWime Bom,
TS 8D S TRT wdoin,

L L LTI



(2019 batch onwards ) %

G 701 sB1.1/G 701.1( ) Reg. No: 1[ 1 I e
et
St Aloysius College (Autonomous) o
Mangaluru

B.Com./B.B.A.- Semester I — Degree Examination

February - 20224
FOUNDATION COURSE IN INDIAN CONSTITUTION AND VALUE EDUCATION

Time: 2 Hours Max. Marks: 50
PART - A
INDIAN CONSTITUTION
1. Answer the following in one sentence each. (1x5=5)
1. Name the permanent President of the Constituent Assembly? When he was
appointed?

What do you mean by “Writ of Habeas Corpus”?

2
3. Name any two religious minority communities in India.
4. What do you mean by Bicameral Legislature?

5

Name any Two regulatory bodies in India.

1I. Answer any ONE of the following in not less than one page. (5x1=5)
6. Explain the six fundamental freedoms mentioned in Article 19 of the Indian
Constitution.

7. Write a note on NITI Aayog.

III. Answer any ONE of the following in not less than two pages.

(10x1=10)
Discuss powers and functions of the Supreme Court of India.

Explain the salient features of the Indian Constitution.

1V. Answer any ONE of the following in not less than three pages.

(15x1=15)
10. Critically evaluate four categories of Directive Principles of State Policy of the

Indian Constitution.

11. Explain the Composition, Powers and Functions of Loksabha.
PART - B

VALUE EDUCATION
V. Answer any ONE of the following in not less than a page.

(5x1=5)
12. Write a note on Self Image and Self Esteem.
13. Write down the importance of thought power.
VI. Answer any ONE of the following in not less than two (10x1=10)

pages.
14. How the goal must be SMART? Explain.

15. What are the elements and enhancement of Self -Discipline?
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